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4

3

2

Response has no recall
errors, minimal
procedural errors® and
no conceptual errors**

L

Response has no recall
errors, minimal
procedural errors

and minimal conceptual
errors

Response has no recall
errors, but has several
procedural

errors OR several
conceptual errors

Recall errors exist OR
Steps taken are not
related to problem
OR

Response left blank

Written Responses

4

3

2

1

[Response is written in a
complete sentence and
uses appropriate
academic vocab

Response is written in a
complete sentence, and
minimal errors exist in
use of academic vocab

Response is not written
in 2 complete

sentence OR

no academic vocab

Concept of response is
not related to
problem OR
Response is left blank

*Procedural errors are mistakes made in the math
**Conceptual errors are mistakes made in the steps one take
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1. (CALC 31.0) Show your work neatly and circle the correct solution.

The position of a particle moving in the xy-plane is given by the parametric cquatio@ r* — 3% and
¥(t) =12 - 312, At which of the following points (x, ¥) is the particle at rest? & ooy /. .
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2. (CALC 31.0) Show your work neatly and circle the correct solution.

Which of the following integrals gives the length of the cuw@ Inx fromx=11t0 x= 2)
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3. (32.0) Show your work neatly and circle the correct solution. r ‘2“§ 9
ﬁ
What is the slope of the line tangent to the polar curve r =1+ 2sinf at § = 07?
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4. (CALC 32.0) Show your work neatly and circle the correct solution.

! 20|
2cos 0 egel = Cw;fw@jsmi{ ctmomy
-~ !
Find the slope of the polar curve at the indicated point. ; ?'f‘
r=3+6cos(),ﬂ==7—;~
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5. AB Review (CALC 16.0) Show your work neatly and circle the correct solution.

The area of the region enclosed by the graph of y = x* +1 and the line y=5is

(A) 3 (B) = (C) =
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6. AB Review (CALC 16.0) Show your work neatly and circle the correct solution.

A\, o

What is the area of the region in the first quadrant enclosed by the graphs of y =cosx, y =x,
and the y-axis?

(A) 0.127 (B) 0.385 @ o400 (D) 0.600 (E) 0.947
A
[ ! * fos X ~ X
A Vst colenldor o
sl - e \N‘U’i%‘&w @ ' A7) ?’3%
\ "~ (o5 X -~ X C%'?Q = O qwlf

MUURSD



Tajima HS Solis AP CALCBC

7. AB Review (CALC 6.0) Show your work neatly and circle the correct solution.

"
Nd‘f' ol (2 M‘%‘Gf‘ . . 2
A particle moves along the x-axis so that its position at time ¢ is given by{ x(r)\=¢" -6t +5. For
what value of ¢ is the velocity of the particle zero? _y obX _ O
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8. AB Review (CALC 6.0) Show your work neatly and circle the correct solution.

The maximum acceleration attained on the interval 0 <7< 3 by the particle whose velocity is given
by v(t)=£ =32 +12t +4 is

(A) 9 (B) 12 (C) 14
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